MORIAH COLLEGE
MATHEMATICS DEPARTMENT

3U Test on Quadratic Theory

1 Solve x* >2x

2 Find the equation of the parabola below.

3 If &, 3 are the roots of 2x° _13x+9= 0, show that (« +1)(f+1) =12




If 2n* +3n—1=an(n—1)+bn+c finda, b, c.

Solve (2)(72 + x)z + (szh + x)— 2=0 forx.

If o, B are the roots of 2x* + 7x+4 =0, find the value of ﬁ-}-é .
- o

Show that x* + (2 +k)x +4% = 0 has two distinct roots for all {éalues of k.




11 For what values of m will x* +3x+6 = m(x +2), have

i

i) 2 distinct roots |

i1) equal roots

iil)  me roots.

~Iliustrate on a graph the situation when the roots are equal ( from part ii)
showing y = x*+3x+6 and y= m(x +2) for various values of m.

W e




8  Write y=2x® +3x~4 inthe form y= a(x=p)* +q and hence find the

vertex. :

Y

9 Show that x* +2ax + a® +A*is positive definite.

10+ For ax’ +bx+c =0, 0ne root is 3 times the other. Show that 16ac =3b°
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If «, pare ;he roots of 2x? _13x49= 0, show that (¢ +1)(B+1) =12
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4 If 2n* +3n~1=an(n—1)+bn+c finda, b, c.

In*3n =l TAnto andbn+Lc

‘}*“‘\L@ Solve (2)62 + x)z + (Zx2 +x)— 2 =0 forx.
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6 If @, f are the roots of 2x° +7x+4 =0, find the value of E+—.
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Show that x* +(2+k)x+k = 0 has two distinct roots for all \;"galues of k.

A = G+kP~ 40
= G4k -4k

-

= 4dak tet-an
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8 Write y=2x® +3x~4 in the form y=a(x;‘§7)2jiq and hence find the

vertex. » .
= 2. 3% 4 2
J 2(x* +3 “»5 -4 -2(x%)

9 Show that x* + 2ax +a? + b?is positive definite.
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10+ For ax’ +bx+c =0, 0ne root is 3 times the other. Show that 164c¢ = 352
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Tiustrate on a graph the situation when the roots are equal ( from part i)
showing y=x*+3x+6 and y = m(x+2) for various values of .
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